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Which of the following sentences does not contain
a collective noun?
A) The Government has approved of the project.

B) Fenerbahge is one of the most supported clubs in
Turkey.

C) The joke amused the audience.

D) The crowd was cheering and booing when he ap-
peared on the stage.

E) Physics is my favorite academic subject.

In which of the following sentences is the underli-
ned expression misused?

>

All' I have eaten today is a sandwich.

o

You must take these pills every two days.

o O

)

)

) 1 will answer each question in the exam.
) The whole people want to have a car.

)

m

All people want to live in peace.

Which of the following sentences contains a struc-
tural ambiguity?

A) Dublin Zoo was opened in 1831 by members of the
medical profession interested in studying animals
while they were alive.

B) She wanted to buy a new house but it was far from
the city center.

C) | spentthe money given to me.
D) He went to the cinema after school.

E) Sheis planning to move to istanbul next year beca-
use she can find a job only in a big city.

Which of the following lexical item is monomorp-
hemic?

A) reads
C) played

B) books
D) sister

E) teacher
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Which of the following sentences contains a word
with a bound morpheme?
A) There is one solution to this problem.

B) You must study hard so that you can pass the
exam.

C) | saw him walking in the street.
D) 1did not know where | could go.
E) They often drink coffee.

Which of the following words has a derivational suf-
fix?

A) buys

C) arrived

B) happiness
D) children
E) higher

Formal education occurs in a structured environ-
ment whose __purpose is teaching students.

>

precarious

oY)

incoherent

g O

explicit

m

)
)
) nebulous
)
)

superfluous

____commercially successful in many genres, inclu-
ding pop, blues and gospel, some singers are not
the best-selling solo artists in the history of recor-
ded music.

A) In spite of
B) Although
C) Dueto

D) No matter how

E) Evenso
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1.

12.

Some theories propose that all individuals benefit
__avariety of learning modalities, while others sug-
gest that individuals may have preferred learning
styles, learning more easily __visual or kinesthetic
experiences.

>

of / at

w

)

) in/by
) on/with
)

)

O O

from / through

m

towards / from

In Canada, fish and chips __with the traditional salt
and vinegar, but a lemon wedge and tartar sauce is
often the accompaniment __ in table service resta-
urants.

>

may be served / found

w

could be served / was found

g O

)

)

) should serve / is found

) must have been served / had been found
)

m

needn’t have served / has found

In which of the following sentences is the indefinite
article “a” misused?

A) Isaw agirlin the garden. She was watering the tre-
es.

B) We will have a big breakfast on Sunday in the café.

C) Aperson who looks after a patient is a doctor.

D) | had a dinner with my friends yesterday.

E) Aman called Ahmet left a massage for you.

Which of the following sentences doesn’t include a
dependent preposition?

>

My father allowed me to go out yesterday.

w

The teacher approved of the project.

g O

What is the cause of the accident?

m

)
)
) The man in the corner is staring at me.
)
)

Do you know the reason for the delay?
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14.

Which of the following sentences contains a punc-
tuation error?

A) All children like chocolate and cake.

B) My sister is a doctor, but | help her when neces-
sary.

C) | am taking art history, Russian literature, mathe-
matics, and geography this semester.

D) We spent two hours walking and cycling.

E) My friends live in istanbul therefore, | go to istanbul

once a week.

14. — 16. SORULARI ASAGIDAKI
PARGAYA GORE CEVAPLAYINIZ.

Social psychological research has indicated that ext-
rinsic rewards can lead to overjustification and a sub-
sequent reduction in intrinsic motivation. In one study
demonstrating this effect, children who expected to be
(and were) rewarded with a ribbon and a gold star for
drawing pictures spent less time playing with the dra-
wing materials in subsequent observations than child-
ren who were assigned to an unexpected reward con-
dition. However, another study showed that third gra-
ders who were rewarded with a book showed more rea-
ding behavior in the future, implying that some rewards
do not undermine intrinsic motivation. While the provisi-
on of extrinsic rewards might reduce the desirability of
an activity, the use of extrinsic constraints, such as the
threat of punishment, against performing an activity has
actually been found to increase one’s intrinsic interest
in that activity. In another study, when children were gi-
ven mild threats against playing with an attractive toy,
it was found that the threat actually served to increase
the child’s interest in the toy, which was previously un-
desirable to the child in the absence of threat.

It is stated in the passage that the children rewar-
ded with a ribbon and a gold star __.

A) liked drawing pictures more than those who weren’t
rewarded

B) drew pictures faster than the other children becau-
se they were motivated

C) lost their intrinsic motivation and left the drawing
materials quicker than the children rewarded with
an unexpected reward

D) weren't interested in drawing pictures because
they wanted to be given books

E) preferred to spend time drawing pictures rather

than read book

Diger sayfaya geciniz.
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15. We can conclude from the passage that extrinsicre- : 18. George:
wards __. : _ Have you attended the Socratic seminar on Monday?
- . . Penny:
A) are indispensable for teachers who are interested
) . P . : _ No I haven’t heard of them. Why should | attend the-
in school children : .
: se seminars?
B) must be books, not a ribbon or a gold star if we George:
want extrinsic rewards to be effective :
C) are proved to be ineffective on children under all Penny:
conditions _You mean that Socratic seminars can lead to true edu-
D) may have positive or negative effects on children, 1 cational reform.
because they may cause increase or decrease in Which of the following alternatives best completes
motivation the given dialogue?
E lay an important role in teaching because they al- o o .
) play P . 9 y : A) Socratic discussion is lacking in most classrooms
ways make learning faster :
: and they are superfluous.
B) The purpose of them is to enlarge students’ un-
: derstanding of ideas, issues, and values through
16. Itis concluded from the passage that the use of ext- intensive conversation.
rinsic constraints _. C) Socratic teaching should be combined with subject-
A) don't work in the absence of threat because child- related lectures, textbooks, and basic skills and it is
ren lose their interest not possible to apply it.
B) enable children to show more concern for somet- ! D) Because you are a teacher and you should know
h|ng than extrinsic rewards do H about these seminars to teach children.
C) are effective Only if they are intense E E) Although | have no idea about them, | think they
D) are considered to be cruel because they cause & may improve your teaching method.
psychological problems E
E) decrease the desirability of activities of children =
g” 19. Ceslie:
. . . "
17. Serdar: E E)III)Io y'ou think social norms are important?
- When | ask the teacher something, he always says yfan.
that he will teach it later. : -
. ! Ceslie:
Seda: : Thus, knowledge about cultural is important
- Teachers must use a lesson plan to facilitate stu- - US.’ now.e gea 9u .Cu urfa r.1c?rms IS 1Mpo ?n
. - S for impressions, which is an individual’s regulation
dent learning, providing a course of study which is : ! -
. ' of their nonverbal behavior.
called the curriculum. : Dvilan:
Serdar: ylan- . S .
: _ So, wearing a suit to a job interview in order to give a
Seda: great firstimpression represents a common examp-
- That's true. If you don't know “tenses” you can’t un- le of a social norm in the white collar work force.
derstand “passive voice”. It means one subject af- Which of the foIIowing alternatives best completes
Which of the following alternatives best completes A) | think social norm shouldn't exist in a society.
the given dialogue? :
9 9 ' B) When there are social norms in a society, it is im-
A) The teachers may not know what you ask possible to improve.
B) Whenever | ask questions to my teachers, they try ! C) Nowadays, people ignore the social norms and are
to explain it to me willingly. trying pay attention to the personality.
C) Do you think the way in which you ask question is D) As social beings, individuals learn when and whe-
right? H re it is appropriate to say certain things, to use cer-
, . . tain words, to discuss certain topics or wear certa-
D) |don’t suppose curriculum is a useful way to teach | .
. ' in clothes.
foreign language. :
E) Do you think they have to stick to it, if so, | can't le- E) If thgre weren’t any social forms, crime rate would
. : be higher.
arn something whenever | want. :
3 Diger sayfaya geginiz.
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20. In most countries, it is compulsory for children to attend

school up to a certain age, but the option of attending
private school is open to many.

Which of the following alternatives best restates
the given sentence?

A) Most countries allow children to go to school whe-
never they want, but they have to go to private

school.

In most countries, children have to attend school
when they reach to a certain age, but attending pri-
vate school is optional.

In most countries children can go to school at any
age and they can go to private school or state
school.

In most countries, the age at which children go to
school depends on the desire of the people, but if
they want to go to school they have an option of at-
tending private school.

In most countries, whether children go to school

doesn’t concern the government; however, which
school they choose is important.

21. A person learns to fear regardless of whether they

themselves have experienced trauma, or if they have
observed the fear in others.

Which of the following alternatives best restates
the given sentence?

A) Whenever people experience trauma, they learn to
fear, so whether they observe fear in others is not
important.

B) Regardless of what people observe in others, they
learn to fear if they experience trauma.

C) Experiencing trauma is the only condition to learn
to fear.

D) Even if people don’t experience trauma, they can
learn to fear when they observe fear in others.

E) Observing the fear of others and experiencing tra-

uma together make people learn to fear.
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22.

23.

The languages that use the Latin script today generally
use capital letters to begin paragraphs and sentences
and proper nouns. __Old English, for example, was ra-
rely written with even proper nouns capitalized; where-
as Modern English of the 18th century had frequently all
nouns capitalized, in the same way that Modern Ger-
man is written today.

Which of the following alternatives best completes
the given paragraph?

A) The Latin alphabet spread, along with the Latin
language, from the ltalian Peninsula to the lands
surrounding the Mediterranean Sea.

B) The rules for capitalization have changed over
time, and different languages have varied in their
rules for capitalization.

C) During the Middle Ages the letter (W) (originally a
ligature of two (V)s) was added to the Latin alpha-
bet, to represent sounds from the Germanic langu-

ages.

It is generally believed that the Romans adopted
the Cumae alphabet in the 7th century BC from
Cumae.

E) During the Middle Ages, the Latin alphabet was
adapted to Romance languages.

American English and British English (Commonwealth
English) differ in several ways and among them are
spelling differences. __Some spellings seen as “Ame-
rican” today were used in Britain, and vice-versa. An
“American standard” and a “British standard” emerged
in the 19th century, following the publishing of influenti-
al dictionaries.

Which of the following alternatives best completes
the given paragraph?

A) In British English, some words from French, Latin

or Greek end with a consonant.
B) The spelling systems of most Commonwealth co-
untries and Ireland, for the most part, closely re-
semble the British system.
C) Many of the spelling differences come from a time
when English spelling was not fully standardized.
D) Theater is the prevailing American spelling used to
refer to both the dramatic arts and buildings where
stage performances and screenings of films take

place.

Spelling is writing or stating the letters and diacri-
tics of a word.
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24,

25.

26.

(NIn the past, those who were disabled were often not
eligible for public education. (II) Children with disabiliti-
es were often educated by physicians or special tutors.
(I11) Special education is the practice of educating stu-
dents with special needs in a way that addresses the-
ir individual differences and needs. (IV) These early
physicians set the foundation for special education to-
day. (IV)They focused on individualized instruction and
functional skills. (V) Thanks to them, more recently spe-
cial education has been opened to anyone who has ex-
perienced difficulty learning although it was only provi-
ded to people with severe disabilities in its early years.

Which of the sentences in the given paragraph is ir-
relevant, violating its unity and coherence?
Al B) Il c)n

DIV  E)V

(I) Human learning may occur as part of education, per-
sonal development, schooling, or training. (II) It may
be goal-oriented and may be aided by motivation. (lll)
The study of how learning occurs is part of educational
psychology, neuropsychology, learning theory, and pe-
dagogy. (IV) Learning may occur as a result of habitua-
tion or classical conditioning, seen in many animal spe-
cies, or as a result of more complex activities such as
play, which is seen only in relatively intelligent animals.
(V) Play generally describes behavior which has no par-
ticular end in itself, but improves performance in similar
situations in the future.

Which of the sentences in the given paragraph is ir-
relevant, violating its unity and coherence?
Al B) Il c)m

DIV  E)V

Which of the following is not a tragedy by Shakes-
peare?

>

) Othello

) Macbeth

) The Tempest
)

)

g 0O w

Titus Andronicus

m

Hamlet
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27.

28.

29.

30.

Many writers of the --- period emphasized the feeling
and imagination, and looked toward nature for insight.
The individual and his/her experiences and expressions
of those experiences were highly valued.

Choose the alternative which best completes the
given sentence.

>

Neoclassical

oY)

Metaphysical

g O

)

)

) Sentimental
) Romantic
)

m

Aesthetic

A(n) --- is a purely fictitious narrative which usually in-
volves supernatural elements, actions and events. It
emerged as a way for the ancient people to understand
the world around them.

Choose the alternative which best completes the
given sentence.

A) Legend B) Saga C) Fable

D) Myth E) Story

Which of the following is not a type of irony?

>

Verbal

o)

Dramatic

g O

Structural

m

)
)
) Sarcastic
)
) Situational

Which of the following is not true for a stock cha-
racter?

>

They are mainly flat characters.

sy

They are based on literary or social types.

g O

They are also known as stereotypes.

m

)
)
) They make easy target for parody.
)
)

They experience some change throughout the
story.
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32.

33.

A --- is poem which consists of fourteen lines with a set
rhyme scheme. It was brought to England from lItaly by
Wyatt and Surrey.

Choose the alternative which best completes the
given sentence.

A) Novella

B) Ballad

C) Ode

D) Romance

E) Sonnet

Written by George Orwell, ---, is one the twentieth

century’s most widely ready pieces of literature. Consi-
dered by many a modern classic, the book, first relea-
sed in 1949, tells of a dystopian society, and also shows
the dangers of a totalitarian ideology. It brought forth the
concepts of “Big Brother”, “Room 101” and the “Tho-
ught Police”, all concepts that people today are increa-
singly aware of.

Choose the alternative which best completes the
given sentence.

>

Animal Farm

w

Coming Up for Air

g O

Nineteen Eighty-Four

m

)
)
) Burmese Days
)
)

Keep the Aspidistra Flying

Linguistic knowledge permits us to form longer senten-
ces by joining sentences and phrases together.

Considering the extract above, which one of the fol-
lowing is false in regard to linguistic knowledge?

A) Knowing the sequence of sounds in a word

B) Knowing the past meanings of a word

C) Knowing the probable word order permutations of
a sentence

D) Knowing the very general nature of the plural
morpheme which is added to a word

E) Knowing the probable sound changes when a

morpheme is attached to another morpheme
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34.

35.

36.

37.

In the Hindu tradition, it is stated that the language co-
mes from Brahma, who is the creator of the universe.

Which one of the following theses about the origins
of languages involves the statement given above?

A)
B)
C)
D)
E)

Natural sound source
Genetic source

Social interaction source
Divine source

Tool-making source

describes the way sounds function within a
given language or across languages to encode mea-
ning.

Choose the term that completes the sentence.

A)
B)
C)
D)
E)

Semantics
Semiology
Phonology
Phonetics

Morphology

Which one of the following can be both “free” and
“functional” morpheme?

A)
B)
C)
D)
E)

The
Young
Boy
Play
—ed

The ability to comprehend and produce a communica-
tive act is referred to as which often
includes one’s knowledge about the social distance,
social status between the speakers involved, the cul-
tural knowledge such as politeness, and the linguistic
knowledge explicit and implicit.

Choose the terms that best complete the descrip-
tion.

A) Linguistic performance

B) Linguistic competenece
C) Linguistic variation

D) Speech acts

E) Pragmatic competence

Diger sayfaya geciniz.
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38.

39.

40.

In which of the following sentences does the under-
lined word is an exophoric reference?

A) Take a look at this.

B) Aliis hardworking, he got the highest grade in the
last exam.

C) He is the one whom the director likes most, Ali is a

punctual man.

The band looked perfect tonight, they have massi-
ve amount of fans around the world.

E) | went out with Ayse on Sunday, she looked awful.

The view which asserts that specific aspects of langua-
ge ability can be accorded specific locations in the bra-
in is called

Choose the term that best completes the descrip-
tion.

>

conduction

@

lateralization

g O

)

)

) localization
) aphasia

)

m

modularization

Which of the following cannot be said in frame of in-
nateness hypothesis?

Children are equipped with blueprint for language.

B) The innate template aids the child in the course of
constructing a grammar for her language.

The argument for innateness of Universal Gram-
mar is called the poverty of the stimulus.

Children all starts out with a kind of cognitive sla-
te and get all their information and knowledge from
perception.

E) Children’s inherent nature involves knowledge
about language and they acquire it.
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41.

Multiple Intelligence Theory suggests that the activities
and exercises used in the classroom should depend on
intelligence types.

Which of the following learning activities depends
heavily on Intrapersonal Intelligence?

>

Listening to recordings or talking books

oY)

Solving logic problems and puzzles

g O

)

)

) Drawing a scene from a story

) Taking part in a group discussion
)

m

Conducting an inidividualized projects

. Which of the following hypothesis does not belong

to Natural Approach?

>

Acquisition — learning hypothesis

oY

Monitor hypothesis

o O

Input hypothesis

m

)
)
) Contrastive analysis hypothesis
)
)

Affective fitler hypothesis

. Which of the following is not a type of prognostic

test?

>

Progress test

oY

)

) Placement test
) Aptitude test
)

)

g O

Diagnostic test

m

Selection test

. If a test gives similar results to existing other tests

that have already been validated, this means the
test has

A) content validity

B) face validity

C) predictive validity
D) concurrent validity
E) construct validity
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45.

46.

47.

When there is inadequate coverage, teachers may de-
cide to adapt materials. means increasing
the number of exercises that are of the same type as
the ones that already exist. However, re-
fers to adding a new language skill or new component.

Choose the alternative that best completes the gi-
ven statement.

>

Rewriting / restructuring

w

Substituting / re-ordering

g O

)
)
) Branching / subtructing
) Extending / expanding
)

m

Simplifying / replacing

I. Exploration

Il.  Pedagogical realization
lIl. Physical production

IV. Ildentification

V. Contextual realization

In which of the following alternatives the steps in-
volved in the process of materials development are
given in the correct order?

A) V-ll—-I-IV-l
B) IV-I-V-Il-1I
C) Vi-Ill-1-1l-V
D) HI-=M-1-1IV-V
E) IV=-V-I-llI-l

Which of the following activities is suitable to teach
vocabulary implicitly?

>

Miming and acting out

w

Using pictures and realia

g O

Singing songs

m

)
)
) Giving simple explanations
)
)

Drawing diagrams
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48.

49.

50.

Which of the following can be listed under the cate-
gory of cognitive learning strategies?

A)
B)
C)
D)
E)

Contextualisation
Cooperation
Selective attention
Self- monitoring
Self-talk

Which of the following is not true for young learners
of a foreign language?

A) Young learners acquire language best in a low-

anxiety classroom atmosphere.

B) Meaning is established through visual cues, and
demonstrations.

C) More manipulation is necessary for younger stu-
dents

D) Young learners acquire language through the taks
appropriate to their developmental level.

E) Young learners can grasp the meta-language used

to explain the rules in abstract terms easily.

refers to any message given to the learner
to signal that their language production is incorrect and
that it requires repair?

Choose the alternative that best completes the gi-
ven statement.

A) Error treatment

B) Explicit correction
C) Corrective feedback
D) Reinforcement

E) Delayed correction



